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Im 98cm

(2) 4m 64cm
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6) d9dl10g = Kg
(7) Skg 893g = Kg
(8) 2129 = Kg
(9) 449 = K9
(10) Ikg 804g = Kg
(6) Im 63cm = m
(7) Im 2lcm = m
(8) 8m b4cm = m
(@ 10cm = m

(10) bem = m
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(1) lkg 2699 = |.269 kg 6) 910g = 0.9 kg
(2) Tkg 8959 = 7.895 kg (7) bkg 893g = 5.893 kg
(3) lkg 2299 = |.229 kg 8 2129 = 0.212 kg
(4) 5kg bg = 5.005 kg (90 449 = 0.044 kg
(5) 99 = 0.009 kg (10) kg 804g = 1.804 kg
RODEIZmBEMATERLEL LD,

(1) Im98cm = 1.98 m (6) Im 63cm = 1.63 m
(2) 4m 64cm = 4.64 m (7 Im 2lem = [.21  m
(3 69cm = 0.69 m (8) 8m S54cm = 8.54 m
(4) 12m 3lem = 12.31 m (@ 10cm = 0. m
(5) T6ecm = 0.76 m (10) 5cm = 0.05 m
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